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1.What common standard is used by both the internal IBM Business Process Manager document store
and external Enterprise Content Management servers?

A. Databases

B. Folder structure

C. Application server

D. CMIS-based interfaces

Answer: D

Explanation:

References: https://www.ibm.com/developerworks/community/files/basic/anonymous/api/library/cfa136f0-
30c1-4177-9901-62c05d900c5f/document/759d7370-2260-47c3-9f66-17a706030d2c/media

2.Which status is available by default for Process Application snapshots?
A. QA

B. Old

C. New

D. Test

Answer: D

3.Which gateway is required to complete the BPD in the image below and ensure that the process either
returns back to Task 1.1 or completes via Task 3?

A. Event Gateway

B. Complex Gateway

C. Parallel Gateway

D. Exclusive Gateway

Answer: D

Explanation:

References:
http://www.ibm.com/support/knowledgecenter/SSFTDH_8.5.6/com.ibm.wbpm.wle.editor.doc/
topics/example_gateways.htmi
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4.When creating a Localization Resource bundle, which option can be changed only using the desktop
Process Designer client application?

A. Importing localization bundles

B. Adding keys to a localization bundle

C. Adding values for the different languages

D. Adding locales to the localization resource

Answer: D

Explanation:

References:
http://www.ibm.com/support/knowledgecenter/SSFTDH_8.5.7/com.ibm.wbpm.wle.editor.doc/
topics/create_localiz_res.html

5.A BPM developer would make which recommendation to improve application performance?
A. Avoid purging data regularly.

B. Create deploy deeply nested Coach Views.

C. Create large server side JavaScript blocks.

D. Avoid multiple sequential system lane activities.

Answer: D

Explanation:

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21439836
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